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1-5] Units, Stondards ond Hhe SI System

When we measure Hhe heght of a table we may
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Usually, physical quantities have units  lrke:

Qbﬁaﬂ’h"}"‘j Uﬂi“'
WG SS ha  or grew ..
velocity mls o cwls,..

Temprature Celsius, Fahrenheid, . .
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The units  for nghﬁ, Mass , and T.me are -

Length - meler (m)
j lge(ye I—le waoas cclled

Mass . ki‘ograw\ (kj) +he/mk5\ Sl temn
Time : second (s) Mele/ / Second
kiloyram

We shall mosHj vse the oI syStemt (mks).

Sometime ,people we FQiJc/as system

second for time

Cenwhmeler Gt lwg%&
Jram for mass

I+ 5 easy to c‘/‘.avtg From Mks“ﬁ_ <3S . e @n vse:
1 m= |00 cwm kg = 1000 g r@am
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consider  He fo llowss g

Ve loc mls = L/T Nole +hat ue loo}j
b accelerza hon awd d.a.-,nj.'lj
are expresed in teims of

Densidy  Rylm > M/ ) L, ,T

Acceleatron  mls > L [Tt

Siﬂh"ﬁllj ) Mmomentuwm ( P = mas) , focce (= =ma)
o also expresed in tems of L oA, T .
Example: %laow hgla‘l Force w[mc(n l«as un.-{g oﬁ

ewton) caun be expleﬁecb n terms o fF
He base quantittes L M ,T.

MeS acceleration
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Thelpblt’ f@e newton is o derived Qu.ani-n‘j ) Since

we an expes it in terms of & cembinahon of
Hhe loase unt M, L T .



Thn J‘gie ST sdskm f—Q\e:e ate SEVEN base ﬁm&n*ifics

Quan)rﬂrj Unct Unt clbbre viatron
Lemghga Me ler M
Time Second S
Mass k:lquam kf}
Electtic Cartent cmpere A
Tempﬂajruft' Revin <
Amount of Subsience mMole mol
Luminous Inlems.*‘j candela cd
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The ‘eu:j{—gl OF a pen is 3 incles EXP(GSS i—Qe
leagtt o°F +Hae pen in fems of cm

| in. = 2.54 cm

5> | = 254 cm
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= 4+.62 cm .



Exaw\plef The speed oF a car s |
¢ (@) k .
the speed in fems of mis . o kmlh. Expres

Node : | km= loco m 2% | = loocom_
Rm

[lh = %600 ¢ => | = 1+ b

360 S
IoO km = oo /_fﬁ&(looom),\(_’__./%_)
h W R 3¢00 S
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o S g S

= 27.3 m|s.

Queslon: A car is moung at 20 ml. E
tHhe speed in 32.43 of km/hls. “pre

Answer : 72 km//ﬂ
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Some Me+ic (ST ) Prefixes
e F X Abbreviation
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F=r examples

looom = 1 km .
Sméé’m = ‘BFM

20;(!06 kj = 20 th and so on.
You shoud do the Collow: "9 prbb/ewu ﬁ’/om
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